||
.g. Q E @ Multiply decimals by powers of ten
]

Name: Date: Score:
6.84 x 10000 = 5.792 x 100000 =
4.631 x 100 = 5.674 x 10000 =
9.342 x 10 = 5.086 x 100 =
3.979 x 10000 = 10.226 x 10 =
10.951 x 100 = 10.941 x 10 =
1.383 x 100 = 2.118 x 1000000 =
10.847 x 10 = 7.731 x 1000000 =
7.272 x 100 = 6.079 x 100 =
5.697 x 100000 = 1.1 X100 =
8.894 x 1000000 = 7.178 x 100 =
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é = Multiply decimals by powers of ten

Name: Date: Score:
6.84 x 10000 = 68400 5.792 x 100000 = 579200
4.631 x 100 = 463.1 5.674 x 10000 = 56740
9.342 x 10 = 93.42 5.086 x 100 = 508.6
3.979 x 10000 = 39790 10.226 x 10 = 102.26
10.951 x 100 = 1095.1 10.941 x 10 = 109.41
1.383 x 100 = 138.3 2.118 x 1000000 = 2118000
10.847 x 10 = 108.47 7.731 x 1000000 = 7731000
7.272 x 100 = 727.2 6.079 x 100 = 607.9
5.697 x 100000 = 569700 1.1 x 100 =110
8.894 x 1000000 = 8894000 7.178 x 100 = 717.8
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